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SHSEE _ ‘
A E-X R AR ARREATR—ZNIER | mes s
5cm 50cm 100cm
Ot ER (L) 0.04 0.06 — PA-1000
QREBZM 0.07 0.07 — PA-1000
CEREIETED 0.06 0.06 — PA-1000
1/13(R) B |OEERER 0.04 0.05 — PA-1000
GEERED 0.05 0.06 — PA-1000
©fliEL 0.07 0.06 — PA-1000
15 0.06 0.07 PA-1000
Ot ER (L) 0.05 0.05 — PA-1000
QREBZM 0.08 0.07 — PA-1000
QEEILEED 0.06 0.06 — PA-1000
7/28 K)EN  |@EEFEER 0.05 0.05 — PA-1000
GEREmRAD 0.04 0.05 — PA-1000
®fiEL 0.05 0.06 — PA-1000
ibi5 0.05 0.06 PA-1000
2/22 (#%1)



EEREEICH TR RERERR

FEM 529
S22
B B - X IR I AR (RATOY —RIVRBE) | e i
5cm 50cm 100cm
gt ER (1) 0.06 0.06 — PA-1000
QREBZM 0.09 0.12 — PA-1000
QEREIL LD 0.06 0.06 — PA-1000
1M/5(R) BN |ORERES 0.05 0.08 — PA-1000
GEERED 0.05 0.06 — PA-1000
®fIEL 0.07 0.09 — PA-1000
fibis 0.06 0.08 PA-1000
O L ER (1) 0.05 0.06 — PA-1000
QR &G 0.08 0.09 — PA-1000
QEELERED 0.07 0.08 — PA-1000
5/12(Q) BN |OEERLR 0.05 0.05 — PA-1000
GEERED 0.08 0.07 — PA-1000
®fIEL 0.07 0.09 — PA-1000
whi5 0.07 0.07 PA-1000
3/22 (#%1)
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FEM 529
SRR3R
B B - X IR I AR (RATOY —RIVRBE) | e i
5¢m 50cm 100cm
gt ER (1) 0.06 0.06 — PA-1000
QREBZM 0.07 0.10 — PA-1000
QEREIL LD 0.07 0.07 — PA-1000
M/5CR) BN |ORRERESH 0.05 0.06 — PA-1000
GEERED 0.06 0.06 — PA-1000
®fIEL 0.06 0.09 — PA-1000
fibis 0.06 0.07 PA-1000
O L ER (1) 0.05 0.05 — PA-1000
QR &G 0.09 0.10 — PA-1000
QEELERED 0.07 0.07 — PA-1000
5/8(K)EN |OEREFES 0.05 0.05 — PA-1000
GEERED 0.08 0.07 — PA-1000
®fIEL 0.07 0.08 — PA-1000
whi5 0.06 0.07 PA-1000
4/22 (#%1)
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FEM 529
S R 304F B
B B - X IR I AR (RATOY —RIVRBE) | e i
5¢m 50cm 100cm
gt ER (1) 0.05 0.06 — PA-1000
QREBZM 0.09 0.11 — PA-1000
QEREIL LD 0.07 0.07 — PA-1000
1nM2&)Bn  |OEERES 0.06 0.06 — PA-1000
GEERED 0.07 0.07 — PA-1000
®fIEL 0.07 0.09 — PA-1000
fibis 0.07 0.08 — PA-1000
O L ER (1) 0.05 0.06 — PA-1000
QR &G 0.13 0.12 — PA-1000
QEELERED 0.05 0.05 — PA-1000
5/8(K)EY |DEETESH 0.08 0.08 — PA-1000
GEERED 0.09 0.08 — PA-1000
®fIEL 0.09 0.10 — PA-1000
whi5 0.06 0.08 — PA-1000
5/22 (#%1)
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FEM 529
S k294
B B - X IR I AR (RATOY —RIVRBE) | e i
5¢m 50cm 100cm
gt ER (1) 0.05 0.05 — PA-1000
QREBZM 0.07 0.09 — PA-1000
QEREIL LD 0.08 0.08 — PA-1000
M/2(K) BN |ORERES 0.05 0.05 — PA-1000
GEERED 0.06 0.07 — PA-1000
®fIEL 0.08 0.10 — PA-1000
fibis 0.08 0.08 — PA-1000
O L ER (1) 0.06 0.05 — PA-1000
QR &G 0.16 0.14 — PA-1000
QEELERED 0.09 0.08 — PA-1000
5/2(K)EN  |OREREFES 0.06 0.06 — PA-1000
GEERED 0.09 0.09 — PA-1000
®fIEL 0.07 0.08 — PA-1000
whi5 0.08 0.08 — PA-1000
6/22 (#%1)
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FTE : A 2-9
S k284
P I AEE(XATOY—AVEBE) | e e
5cm 50cm 100cm
it dpilER (L) 0.05 0.06 — PA-1000
QR EEM 0.17 0.15 — PA-1000
QEELEE 0.08 0.08 — PA-1000
M/4(£)BNL |ORERES 0.08 0.08 — PA-1000
GERER & 0.10 0.09 — PA-1000
©1fliE L 0.08 0.10 — PA-1000 | FRk28%11HBIEMSIEM
iz 0.08 0.08 — PA-1000
Ot ER (1) 0.05 0.06 — PA-1000
QREBA 0.14 0.16 — PA-1000
5/11(K) 2 EREIETED 0.07 0.08 — PA-1000
@EIRETEED 0.04 0.07 — PA-1000
GERERE 0.10 0.13 — PA-1000
whi5 0.06 0.07 — PA-1000
FRE27TEERE :
A - X1 A ARRA7AVEER) | g %
5cm 50cm 100c¢m
Ot ER (1) 0.05 0.06 — PA-1000
QREBAR 0.13 0.16 — PA-1000
- QEREILFED 0.07 0.09 — PA-1000
1/AGRO R @EIETEED 0.05 0.07 — PA-1000
GEERED 0.11 0.12 — PA-1000
iz 0.08 0.10 — PA-1000
O ER (1) 0.07 0.07 — PA-1000
QREBZ 0.14 0.16 — PA-1000
5,7 (K) B QEEILEED 0.10 0.10 — PA-1000
@EIETEED 0.08 0.08 — PA-1000
GEERED 0.12 0.12 — PA-1000
7/22 (#%1)
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TR 264F B
B\ S A
B H - IR 545 ARBEATAYZANEER) | s s
5¢m 50cm 100cm
Ot ER (L) 0. 07 0. 09 — PA-1000
QR EEM 0.12 0.18 — PA-1000
2 30K) CEREITE 0. 09 0.10 — PA-1000
@EIRETEED 0. 06 0.08 — PA-1000
GEERED 0. 11 0. 11 — PA-1000
iz 0. 08 0. 11 — PA-1000
Ot ER (L) 0. 06 0. 09 — PA-1000
QREBA 0.14 0.17 — PA-1000
150K) QEEILEED 0. 09 0.12 — PA-1000
@EIRETEED 0. 07 0. 09 — PA-1000
GEREmRE 0.10 0.13 — PA-1000
whi5 0. 07 0. 08 — PA-1000
Dt dhilvER (1) 0. 06 0. 06 — PA-1000
QR EHM 0.08 0. 11 — PA-1000
6 4(H) QEREILETED 0. 07 0.10 — PA-1000
@ERETEE 0. 07 0. 09 — PA-1000
GEREmRE 0. 11 0.13 — PA-1000
wi5 0. 07 0. 10 — PA-1000
gt dilvER (L) 0. 06 0. 07 — PA-1000
QREBZM 0.13 0.14 — PA-1000
5. 2(%) QEELFEE 0.13 0.12 — PA-1000
@EIEEED 0. 09 0. 09 — PA-1000
GERERED 0.12 0.14 — PA-1000
fibiz 0.12 0.13 — PA-1000
9/22 (#%1)
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BIE B - K R B B ) Ul ) AIER e
5cm 50¢cm 100¢cm
Ot ehnER (L) 0. 07 0. 07 — PA-1000
QRESZR 0.15 0.15 — PA-1000
1| -
3 3(B)chy |SEELRE 0. 11 0.11 — PA-1000
@E RETEER 0. 08 0. 09 — PA-1000
GERErRER 0.12 0.12 — PA-1000
b1 0. 11 0.12 — PA-1000
Dghith i ER (1) 0.10 0.10 — PA-1000
QBREGFR 0. 15 0.14 — PA-1000
hd _ —-
4K QEREILEER 0.14 0.14 PA-1000
@E RETEER 0. 09 0.10 — PA-1000
GERErRER 0.17 0.15 — PA-1000
b5 0.14 0.13 — PA-1000
10/22 (#%1)
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FRTEHE: & 2-9

SRR 254E B
AEE X A ARMATE_ZNTER) | g %
5cm 50cm 100cm
Ot ER (L) 0. 06 0. 07 — PA-1000
QR &S 0.14 0.14 — PA-1000
TR 264 QEELEE 0. 09 0.10 — PA-1000
176(R)EN  |@mEpEmS 0. 08 0. 09 — PA-1000
GERERE 0.14 0.13 — PA-1000
iz 0. 11 0.12 — PA-1000
Ot ER (1) 0. 06 0. 07 — PA-1000
QREBA 0.15 0.14 — PA-1000
12 2(B)ER EREIETED 0. 11 0. 11 — PA-1000
@EIRETEED 0. 09 0. 09 — PA-1000
GERER & 0.14 0.13 — PA-1000
whi5 0. 10 0.12 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QR &S 0. 09 0. 11 — PA-1000
()R CEREIETED 0.12 0. 11 — PA-1000
@EIRETE & 0.10 0. 09 — PA-1000
GERER & 0.15 0.13 — PA-1000
whi5 0. 10 0.12 — PA-1000
11/22 (#%1)



EEREEICHTOIRGRERERR

FRTEHE: & 2-9

TR 254 B
A% -XiE AEA ARREATALZMER) | pies %
5cm 50cm 100cm

Ot hER (L) 0. 07 0. 07 — PA-1000
QREBZM 0. 09 0. 11 — PA-1000
CEREIETED 0. 11 0. 11 — PA-1000

1073 A @EEEED 0.13 0. 11 — PA-1000
GEERED 0. 11 0.12 — PA-1000
15 0.10 0.10 — PA-1000
Ot ER (1) 0. 07 0. 08 — PA-1000
QREBZM 0.10 0. 11 — PA-1000

02 (B)<EY QEELHE 0.15 0.13 — PA-1000
@EEEED 0. 09 0.10 — PA-1000
GEREmRED 0.16 0.16 — PA-1000
i 0.10 0.12 — PA-1000
Ot ER (1) 0.10 0.10 — PA-1000
QREBZM 0. 09 0. 11 — PA-1000

6.1 (K)<EY CEREIETED 0.12 0.12 — PA-1000
@EEREL 0.10 0.10 — PA-1000
GEREmRED 0.17 0.16 — PA-1000
15 0.10 0.12 — PA-1000
O ER (1) 0.10 0. 09 — PA-1000
QR EHM 0. 09 0. 11 — PA-1000

2 1(A) R QEIELEED 0.12 0. 11 — PA-1000
@EREFEED 0. 09 0.10 — PA-1000
GERERED 0.12 0.13 — PA-1000
5 0.12 0.14 — PA-1000

12/22 (#%1)
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FRTEHE: & 2-9

SRR 254E B
AEE X A ARMATE_ZNTER) | g %
5cm 50cm 100cm

Dt iER (L) 0. 07 0. 09 — PA-1000
QR &S 0. 09 0.12 — PA-1000

6.3(B) R QEELEE 0.12 0.12 — PA-1000
@EIRETE &R 0.10 0. 11 — PA-1000
GERERE 0.18 0.17 — PA-1000
iz 0.13 0.14 — PA-1000
Ot ER (1) 0.14 0.12 — PA-1000
QREBA 0. 10 0. 11 — PA-1000

5.150K) R EREIETED 0. 11 0.12 — PA-1000
@EIRETEED 0.10 0.10 — PA-1000
GERER & 0.18 0.15 — PA-1000
whi5 0. 11 0.12 — PA-1000
Ot ER (1) 0. 09 0.10 — PA-1000
QR &S 0.10 0.14 — PA-1000

4 15(B)ER CEREIETED 0.12 0.12 — PA-1000
@EIRETEED 0.13 0.13 — PA-1000
GERERE 0.17 0.19 — PA-1000
whi5 0.14 0.16 — PA-1000

13/22 (#%1)
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B B - X IR I AR (RATOY —RIVEBE) | e i
5¢m 50cm 100cm

IFSHAIFHE(ER) — 0. 06 0. 07 PA-1000
IFWVETH(BA) — 0. 06 0. 08 PA-1000
QP E (BN) — 0. 07 0. 07 PA-1000

3/1(2) B gt ER (1) 0. 09 0. 09 — PA-1000
Qb5 0.13 0.14 — PA-1000
EREIETED 0.13 0.13 — PA-1000
@EIETED 0. 11 0.12 — PA-1000
O 0.13 0.13 — PA-1000
IFBHAIZHE(BRA) — 0. 07 0. 08 PA-1000
IFWEZHE(BA) — 0. 07 0. 06 PA-1000
2FEELE (BN) — 0. 07 0. 07 PA-1000

21(2) B Ot ER (1) 0.15 0.15 — PA-1000
Q5 0.12 0.15 — PA-1000
QEELEED 0.12 0.14 — PA-1000
@EIFETED 0. 14 0.17 — PA-1000
GEERED 0. 14 0.12 — PA-1000
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SR 244 BE
B B - X IR I AR (RATOY —RIVEBE) | e i
5¢m 50c¢m 100cm
1FIE77240 (B ) — 0. 08 0. 07 PA-1000
IFSHAIFHE(ER) — 0. 07 0. 07 PA-1000
FHIMNAFE(BA) — 0. 07 0. 07 PA-1000
FRE254 Ot h i ER (1) 0. 09 0. 11 — PA-1000
1710A) B Qs 0. 11 0.14 — PA-1000
EREIETED 0.12 0.13 — PA-1000
@EIETED 0. 11 0.10 — PA-1000
O 0.14 0.16 — PA-1000
1TFXBAIE(BA) — 0. 07 0. 09 PA-1000
2R ZE (BA) — 0. 06 0. 08 PA-1000
O L ER (1) 0.12 0.12 — PA-1000
12/3(R) £Y |5 0.18 0.19 — PA-1000
QEELEED 0.15 0.17 — PA-1000
@EIFETED 0.12 0.12 — PA-1000
GEERED 0. 23 0.19 — PA-1000
16/22 (#%1)
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TR 244E
N o BIEME (T8 —N )L EFF) .
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ e 50¢cm 100em /,EJI}E%% ﬁ%%
1TFSBAIFE(BRA) — 0. 07 0. 08 PA-1000
. 1TFLVE T (BA) — 0. 07 0. 07 PA-1000
11/5(R) 2F R (BM) — 0. 07 0. 07 PA-1000
AESH(BR) — 0. 08 0. 07 PA-1000
Ot ER (1) 0. 11 0. 11 — PA-1000
Qb5 0.17 0.18 — PA-1000
11/5(R) Bh |OEEILEES 0.13 0.15 — PA-1000
@EFEFEER 0.10 0.10 — PA-1000
G EFErR &R 0. 11 0.12 — PA-1000
N 1FIE7R7%E (BA) — 0. 08 0. 06 PA-1000
10/1(A) 2FEEE (BM) — 0. 07 0. 07 PA-1000
Ot ER (1) 0. 20 0.19 — PA-1000
Qb5 0.17 0.19 — PA-1000
10/1(R) Bh |OEEILEES 0.17 0.16 — PA-1000
OE L 0. 11 0.10 — PA-1000
G EFErRER 0.13 0.14 — PA-1000
. 1TFEBAIE(ERN) — 0. 07 0. 07 PA-1000
/3(A) Wh 2FEEEE (BM) — 0. 06 0. 06 PA-1000
Ot i ER (1) 0. 09 0. 09 — PA-1000
Qb5 0.17 0.18 — PA-1000
9/3(A) Bh |OEEILEE 0.12 0.13 — PA-1000
@EFETER 0. 09 0. 11 — PA-1000
G EERED 0.15 0.14 — PA-1000
17/22 (#%1)



EERBEICSITOMS R R ELR

FRTEHE: & 2-9

TR 244E
— . BIEME (T8 —N )L EFF) -

/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ e 50¢cm 100em /,EJI}E%% ﬁ%%

. 1FSBHAIE(BA) — 0. 06 0. 06 PA-1000

8/1(R) . 2FH DA (BR) — 0. 07 0. 07 PA-1000

Ot ER (1) 0.15 0.14 — PA-1000

Qb5 0.18 0. 20 — PA-1000

8/1(A) Bh |OEELEER 0.13 0.13 — PA-1000

@EFEFEER 0.13 0.12 — PA-1000

G EFErR &R 0. 20 0.19 — PA-1000

N 1FEBHAE — 0. 06 0. 07 PA-1000

7/3(%) W 2FEEEE (BM) — 0. 07 0. 08 PA-1000

Ot ER (1) 0.18 0.18 — PA-1000

Qb5 0.18 0. 20 — PA-1000

772(A) &Y |OEEIEE 0.19 0.17 — PA-1000

@EFEFEER 0.15 0.14 — PA-1000

GEERED 0.16 0.16 — PA-1000

= 1TFEBAIE — 0. 07 0. 08 PA-1000

6/60K) &Y 2FlEEE (BA) — 0. 06 0. 06 PA-1000

Ot ER (1) 0.16 0.15 — PA-1000

Qb5 0.19 0. 21 — PA-1000

6/6(k) £Y |OEEIEER 0.16 0.17 — PA-1000

OE L 0.16 0.15 — PA-1000

GEERAD 0.16 0.18 — PA-1000
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EERBEICSITOMS R R ELR

FRTEHE: & 2-9

TR 23~ 244
— o BIEME (T8 —N )L EFF) -
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ e 50¢cm 100em /,EJI}E%% ﬁ%%

. 1TFSBAIE — 0. 06 0. 07 PA-1000
5/1(A) WA 2F R E (BM) — 0. 07 0. 08 PA-1000
Ot ER (1) 0.13 0.14 — PA-1000
Qb5 0. 21 0. 21 — PA-1000
5/1(B) Bn |OEEILEER 0.16 0.16 — PA-1000
@EFEFEER 0. 21 0.22 — PA-1000
G EFErR &R 0.15 0.16 — PA-1000
. 1TFEBAIE — 0. 08 0. 07 PA-1000
y20(m) WBn 2FEEEE (BM) — 0. 07 0. 07 PA-1000
Ot ER (1) 0.14 0.15 — PA-1000
Qb5 0.19 0. 22 — PA-1000
4/10CK) BN |OEEIEEE 0.13 0.18 — PA-1000
@EFEFEER 0. 23 0.22 — PA-1000
GEERED 0.15 0.13 — PA-1000
. 1TFEBAIE — 0. 08 0. 09 PA-1000
3/16(s) IR 2FEEEE (BM) — 0. 09 0. 08 PA-1000
Ot ER (1) — 0.13 0.14 PA-1000
Qb5 0. 21 0. 22 — PA-1000
3/1(K) £ |GEELRSE — 0.18 — PA-1000
@EFETER — 0.15 — PA-1000
GEERAD — 0. 25 — PA-1000

19/22 (#1)



HEREEICEITOMSIRERERR

FRTEHE: & 2-9

FRR234ERE
= o HAIEE(RA490—N)LhE) .
i - K B[ = 4 Bl E
213() B |FESSHAREE — 0. 07 0.08 PA-1000
= |2F¥EREERN) — 0. 08 0. 07 PA-1000
Ot chLER (1) — 0. 16 0. 16 PA-1000
@rbi% 0. 20 0. 24 — PA-1000
2710kK) £Y |@EREITEER — 0. 21 — PA-1000
@EFEFER — 0. 20 — PA-1000
G EREr & — 0. 25 — PA-1000
TFSHAIEE — 0.10 0. 09 PA-1000
1/31(K) B
() B 2R E (BH) — 0. 08 0. 09 PA-1000
Ot chHER (1) — 0.18 0. 16 PA-1000
o Qb5 0.18 0. 23 — PA-1000
1/?0(&,;;@%,& QEFEILEER — 0. 23 — PA-1000
@ RE 5 &R — 0. 20 — PA-1000
GEEREE — 0. 22 — PA-1000
1IFSBAIFE(BA) — 0. 08 — PA-1000
1214 B8
Z140K) W 2L E (BIN) — 0. 08 — PA-1000
b chDER (L) — 0. 24 0. 23 PA-1000
1275 =5
<5(R) Wh Wig 0. 18 — — PA-1000
1FO%ERE (BWN) — 0. 08 — PA-1000
11,721 i3
<21(R) #h 2FMEREE (B ) — 0. 08 _ PA—1000
BEERSEC/NE (BRA) — 0. 28 — PA-1000
11,716 i3 = ER
/16010 #in v IO LBADT — 0.27 — PA-1000
b chHER (L) — 0. 20 0.19 PA-1000
1.7 =5
(R) Wh Wig 0.16 — — PA-1000
20/22 ($1)



HEREEICEITOMSIRERERR

FRTEHE: & 2-9

FRR234ERE
e e BAIEE (XA —XN)LNER) .
pil KA BIEH = 3| E
/,EIIEE 9&1; /,E\IIE‘@, 5o 50cm 100¢m ﬂ]ﬂi%& 1%%
EihhDhER (L) — 0. 20 0. 20 PA-1000
10,726 i
i 0.17 — — PA-1000
= |2t diER (1) — 0. 19 0.19 PA-1000
10719 =l

OK) &Y i5 0.16 — — PA-1000

1FOERE (BA) — 0. 08 — PA-1000
= [2FEE=E (BN) — 0. 09 — PA-1000
10713 £l -

(®) &Y PR RIS — 0. 29 — PA-1000
EEr FabE A ki £ — 0. 34 — PA-1000
it bER (L) — 0.19 0.18 PA-1000 [HOA7HIZHODANZZELELE:

10712 =5
i 0 16 — — PA—1000
= |ButsDER (L) — 0.19 0.18 PA-1000

1076 £l

/6(R) &Y fibi5 0. 21 — — PA-1000
i ER () — 0.18 0.18 PA-1000

9,728 =5
/280K) HEn Wig 0. 25 — — PA-1000
i ER () — 0.16 0.17 PA-1000
fibi5 0. 27 — — PA-1000
1FORIRE(ZER) 0. 07 — PA-1000

9,722 =5
72(R) FHEBLE (EN) 0. 09 — PA-1000
IEF9 R {EE 0. 34 — PA-1000
] S v S 0. 26 — PA-1000
i ER (L) — 0. 20 0. 20 PA-1000

9./14 i3
i 0. 29 — — PA=1000
b ER (1) — 0. 21 0. 19 PA-1000

9,77 i3
710K) Bh Wis 0. 27 — — PA-1000

21/22 (#1)



HEREEICEITOMSIRERERR

FRTEHE: & 2-9

FRR234ERE
e e BAIEE (XA —XN)LNER) .
i N pil = HI5E
&R () — 0. 22 0. 21 PA-1000
1|, =3
i 0. 29 — — PA-1000
- 1FORERZE (BN) 0. 07 — PA-1000
8/29(R) En 2FHE gk (B A) 0. 08 — PA-1000
&R () — 0.17 0.16 PA-1000
==
8/200K) BN ore 0. 30 — — PA-1000
i ER () — 0. 25 0. 21 PA-1000
£
8/170K) Wen. w15 0. 30 — — PA-1000
i ER () — 0. 25 0. 23 PA-1000
£
8/100%) Wn. w15 0. 30 — — PA-1000
= i ER () — 0. 31 0. 27 PA-1000
=l
8730k &Y fibi5 0. 34 — — PA-1000
= |ButenE (L) — 0. 28 0. 27 PA-1000
=l
77210k &Y b5 0. 35 — — PA-1000
= |ButhbER (L) — 0. 23 0. 22 PA-1000
=l
7721 (%) Y b5 0. 36 — — PA-1000
7/14(K) BEh |BuhdibER (L) — 0. 26 0. 24 RDS-30
17(K) Y Bt (L) — 0. 32 0.27 RDS-30
6.30(K) BEn |BuhdibER(L) — 0. 32 0. 33 RDS-30
6.723(K) =Y |EuthgiER (L) — 0. 29 0. 35 RDS-30
TRR234 i ER (L) — 0. 24 0. 22 RDS-30
6.716(K) EY |12 0. 33 — — RDS-30
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